

EXHIBIT A

Date	Timekeeper	Rate	Description	Hours	Total Fees
2/2/2010	Flora Vigo	\$480.00	REVIEW PROCEDURES TO ENFORCE COMPLIANCE WITH ORDER	0.4	\$192.00
2/3/2010	Flora Vigo	\$480.00	REVIEW PROCEDURES TO ENFORCE COMPLIANCE WITH ORDER	0.3	\$144.00
2/4/2010	Sharon Bunzel	\$650.00	CONFER WITH TEAM REGARDING DISCOVERY AND MEET/CONFER ISSUES FOR BD/KFC DEFENDANTS	0.2	\$130.00
2/4/2010	Flora Vigo	\$480.00	RESEARCH AND SUMMARIZE PROCEDURE TO ENFORCE COMPLIANCE WITH ORDER	0.3	\$144.00
2/4/2010	Colleen Kennedy	\$565.00	REVIEW F. VIGO RESEARCH ON RESEARCH ON MOTION COMPELLING COMPLIANCE WITH ORDER; CORRESPOND WITH TEAM REGARDING SAME	0.5	\$282.50
2/5/2010	David Eberhart	\$700.00	REVIEW AND REVISE DRAFT CORRESPONDENCE TO L. PRESIADO REGARDING COMPLIANCE WITH ORDER; CONFER WITH TEAM REGARDING ADDITIONAL COMMUNICATIONS WITH L. PRESIADO REGARDING COMPLIANCE WITH ORDER	0.3	\$210.00
2/5/2010	Sharon Bunzel	\$650.00	CONFER WITH TEAM REGARDING MEET AND CONFER AND DISCOVERY ISSUES AND CONSIDER STRATEGY REGARDING COMPLIANCE ISSUES FOR BD/KFC DEFENDANTS	1.2	\$780.00
2/5/2010	Colleen Kennedy	\$565.00	DRAFT LETTERS TO R. CAMPBELL AND L. PRESIADO REGARDING COMPLIANCE WITH ORDER	0.7	\$395.50
2/6/2010	David Eberhart	\$700.00	CONFER WITH TEAM REGARDING CORRESPONDENCE TO L. PRESIADO REGARDING COMPLIANCE WITH ORDER	0.1	\$70.00
2/8/2010	David Eberhart	\$700.00	REVISE DRAFT CORRESPONDENCE TO L. PRESIADO; CONFER WITH TEAM REGARDING STRATEGY FOR MEET AND CONFER WITH BD/KFC DEFENDANTS	0.4	\$280.00
2/8/2010	Sharon Bunzel	\$650.00	CONFER WITH TEAM REGARDING DISCOVERY ISSUES; REVIEW CORRESPONDENCE WITH BD/KFC DEFENDANTS REGARDING SAME	0.6	\$390.00
2/8/2010	Colleen Kennedy	\$565.00	REVISE LETTERS TO BD/KFC DEFENDANTS' COUNSEL REGARDING COMPLIANCE WITH ORDER; CORRESPOND WITH TEAM RE SAME; CALL TO P. MCCLELLAN RE COMPLIANCE WITH ORDER	1.0	\$565.00
2/9/2010	David Eberhart	\$700.00	REVIEW CORRESPONDENCE FROM L. PRESIADO AND CONFER WITH TEAM RE SAME; REVISE CORRESPONDENCE TO L. PRESIADO	0.9	\$630.00

Date	Timekeeper	Rate	Description	Hours	Total Fees
2/9/2010	Sharon Bunzel	\$650.00	CONFER WITH TEAM REGARDING MEET AND CONFER STRATEGY AND REVIEW CORRESPONDENCE WITH BD/KFC DEFENDANTS	1.2	\$780.00
2/9/2010	Colleen Kennedy	\$565.00	DRAFT AND REVIEW CORRESPONDENCE WITH BD/KFC DEFENDANTS' COUNSEL REGARDING COMPLIANCE WITH ORDER; CORRESPOND AND CONFER WITH TEAM REGARDING SAME	2.8	\$1,582.00
2/10/2010	David Eberhart	\$700.00	REVIEW AND REVISE CORRESPONDENCE TO COUNSEL FOR BD/KFC DEFENDANTS AND CONFER WITH TEAM REGARDING SAME	1.0	\$700.00
2/10/2010	Sharon Bunzel	\$650.00	CONFER WITH TEAM REGARDING DISCOVERY AND MEET AND CONFER ISSUES FOR BD/KFC DEFENDANTS	0.7	\$455.00
2/10/2010	Colleen Kennedy	\$565.00	DRAFT AND REVIEW CORRESPONDENCE WITH BD/KFC DEFENDANTS' COUNSEL REGARDING COMPLIANCE WITH ORDER; CORRESPOND AND CONFER WITH TEAM REGARDING SAME; CALLS TO L. PRESIADO TO ATTEMPT MEET AND CONFER REGARDING COMPLIANCE WITH ORDER	3.7	\$2,090.50
2/11/2010	David Eberhart	\$700.00	CONFER WITH TEAM REGARDING STRATEGY FOR MEET AND CONFER WITH BD/KFC DEFENDANTS AND STRATEGY FOR SANCTIONS/CONTEMPT MOTION	0.5	\$350.00
2/11/2010	Sharon Bunzel	\$650.00	CONFER WITH TEAM REGARDING STRATEGY FOR MOTION AGAINST BD/KFC DEFENDANTS	0.7	\$455.00
2/11/2010	Flora Vigo	\$480.00	RESEARCH PROCEDURAL ISSUES IN CONNECTION WITH POTENTIAL MOTION TO COMPEL COMPLIANCE WITH COURT ORDER	0.8	\$384.00
2/11/2010	Colleen Kennedy	\$565.00	REVIEW CORRESPONDENCE FROM L. PRESIADO REGARDING COMPLIANCE WITH ORDER; CORRESPOND WITH F. VIGO REGARDING RESEARCH ON LOCAL RULES RELATED TO MOTION; CORRESPOND WITH TEAM REGARDING MOTION STRATEGY; EMAILS TO L. PRESIADO AND P. MCCLELLAN REGARDING MEET AND CONFER	3.6	\$2,034.00
2/12/2010	David Eberhart	\$700.00	CORRESPOND WITH TEAM REGARDING MEET AND CONFER WITH L. PRESIADO AND P. MCCLELLAN AND MOTION STRATEGY IN RESPONSE TO SAME	0.9	\$630.00
2/12/2010	Sharon Bunzel	\$650.00	CONFER WITH TEAM REGARDING MEET AND CONFER STRATEGY, REVIEW COMMUNICATIONS WITH BD/KFC DEFENDANTS	0.9	\$585.00

Date	Timekeeper	Rate	Description	Hours	Total Fees
2/12/2010	Colleen Kennedy	\$565.00	CALL TO L. PRESIADO REGARDING COMPLIANCE WITH ORDER; CALL TO P. MCCLELLAN REGARDING COMPLIANCE WITH ORDER; CORRESPOND WITH TEAM REGARDING MEET AND CONFER DISCUSSIONS AND MOTION FOR CONTEMPT AGAINST BD/KFC DEFENDANTS; REVIEW LETTER FROM L. PRESIADO REGARDING COMPLIANCE WITH ORDER	3.0	\$1,695.00
2/13/2010	Sharon Bunzel	\$650.00	REVIEW MEET AND CONFER CORRESPONDENCE WITH BD/KFC DEFENDANTS AND CONFER WITH TEAM REGARDING SAME	0.3	\$195.00
2/15/2010	Sharon Bunzel	\$650.00	REVIEW MEET AND CONFER CORRESPONDENCE WITH BD/KFC DEFENDANTS AND CONFER WITH TEAM REGARDING SAME	0.3	\$195.00
2/15/2010	Colleen Kennedy	\$565.00	CORRESPOND WITH TEAM REGARDING STRATEGY FOR SANCTIONS/CONTEMPT MOTION AGAINST BD/KFC DEFENDANTS	0.6	\$339.00
2/16/2010	David Eberhart	\$700.00	REVIEW CORRESPONDENCE FROM L. PRESIADO AND CONFER WITH TEAM REGARDING SAME; CONFER WITH TEAM REGARDING STRATEGY FOR SANCTIONS/CONTEMPT MOTION	1.0	\$700.00
2/16/2010	Sharon Bunzel	\$650.00	CONFER WITH TEAM REGARDING STRATEGY FOR SANCTIONS/CONTEMPT MOTION AGAINST BD/KFC DEFENDANTS	0.3	\$195.00
2/16/2010	Jean Niehaus	\$395.00	DRAFT SANCTIONS/CONTEMPT MOTION AGAINST BRIAN BD/KFC DEFENDANTS	5.9	\$2,330.50
2/16/2010	Colleen Kennedy	\$565.00	CONFER AND CORRESPOND WITH TEAM REGARDING SANCTIONS/CONTEMPT MOTION AGAINST BD/KFC DEFENDANTS; REVISE SANCTIONS MOTION	0.7	\$395.50
2/17/2010	David Eberhart	\$700.00	REVIEW DRAFT SANCTIONS/CONTEMPT MOTION; CONFER WITH TEAM REGARDING STRATEGY FOR SAME	1.1	\$770.00
2/17/2010	Jean Niehaus	\$395.00	DRAFT DECLARATIONS IN SUPPORT OF SANCTIONS/CONTEMPT MOTION AGAINST BD/KFC DEFENDANTS	2.1	\$829.50
2/17/2010	Colleen Kennedy	\$565.00	CONFER AND CORRESPOND WITH TEAM REGARDING STRATEGY FOR SANCTIONS/CONTEMPT MOTION	0.5	\$282.50
2/18/2010	David Eberhart	\$700.00	REVIEW, REVISE AND COMMENT ON MULTIPLE DRAFTS OF SANCTIONS/CONTEMPT MOTION; CONFER WITH TEAM REGARDING MOTION AND HEARING DATES	3.1	\$2,170.00
2/18/2010	Sharon Bunzel	\$650.00	CONFER WITH TEAM REGARDING SANCTIONS/CONTEMPT MOTION	0.3	\$195.00

Date	Timekeeper	Rate	Description	Hours	Total Fees
2/18/2010	Jean Niehaus	\$395.00	CONDUCT RESEARCH AND ANALYSIS IN SUPPORT OF SANCTIONS/CONTEMPT MOTION	0.8	\$316.00
2/18/2010	Colleen Kennedy	\$565.00	REVISE SANCTIONS/CONTEMPT MOTION AND SUPPORTING PAPERS; CONFER AND CORRESPOND WITH TEAM REGARDING SAME; CALL TO J. FOGEL'S CHAMBERS REGARDING HEARING DATE; EMAIL TO BD/KFC DEFENDANTS' COUNSEL REGARDING SAME	5.3	\$2,994.50
2/19/2010	David Eberhart	\$700.00	CONFER WITH TEAM REGARDING REVISIONS TO SANCTIONS/CONTEMPT MOTION	0.6	\$420.00
2/19/2010	Sharon Bunzel	\$650.00	REVIEW SANCTIONS/CONTEMPT MOTION AND CONFER WITH TEAM REGARDING SAME	2.0	\$1,300.00
2/19/2010	Jean Niehaus	\$395.00	PREPARE PROPOSED ORDER FOR SANCTIONS/CONTEMPT MOTION; REVISE DECLARATIONS AND SANCTIONS/CONTEMPT MOTION; RESEARCH AND PREPARE ANALYSIS IN SUPPORT OF MOTION	2.4	\$948.00
2/19/2010	Michael O'Donnell	\$310.00	CITE CHECK SANCTIONS/CONTEMPT MOTION; PREPARE EXHIBITS REGARDING SAME	2.5	\$775.00
2/19/2010	Colleen Kennedy	\$565.00	REVISE SANCTIONS/CONTEMPT MOTION AND SUPPORTING PAPERS; CONFER AND CORRESPOND WITH TEAM REGARDING SAME	5.0	\$2,825.00
2/22/2010	Sharon Bunzel	\$650.00	CONFER WITH TEAM REGARDING MOTION STRATEGY AND REVIEW REVISED DRAFT	0.9	\$585.00
2/22/2010	Colleen Kennedy	\$565.00	REVISE SANCTIONS/CONTEMPT MOTION; CORRESPOND WITH TEAM REGARDING SAME	0.8	\$452.00
2/24/2010	David Eberhart	\$700.00	CONFER WITH TEAM REGARDING SANCTIONS/CONTEMPT MOTION	0.4	\$280.00
2/24/2010	Sharon Bunzel	\$650.00	PREPARE MATERIALS FOR SANCTIONS/CONTEMPT MOTION; CONFER WITH TEAM REGARDING SAME	0.3	\$195.00
2/24/2010	Colleen Kennedy	\$565.00	REVISE SANCTIONS/CONTEMPT MOTION	0.6	\$339.00
2/24/2010	Jean Niehaus	\$395.00	REVISE SANCTIONS/CONTEMPT MOTION	0.2	\$79.00
2/25/2010	David Eberhart	\$700.00	CONFER WITH TEAM REGARDING SANCTIONS/CONTEMPT MOTION	0.3	\$210.00
2/25/2010	Sharon Bunzel	\$650.00	REVIEW AND REVISE SANCTIONS/CONTEMPT MOTION, FEE APPLICATION AND SUPPORTING DECLARATION; CONFERENCES WITH TEAM REGARDING MOTION STRATEGY	2.9	\$1,885.00
2/25/2010	Colleen Kennedy	\$565.00	REVISE SANCTIONS/CONTEMPT MOTION AND SUPPORTING PAPERS; CONFER WITH TEAM REGARDING SAME	1.3	\$734.50

Date	Timekeeper	Rate	Description	Hours	Total Fees
2/25/2010	Jean Niehaus	\$395.00	PROOFREAD SANCTIONS/CONTEMPT MOTION AND SUPPORTING DOCUMENTS; REVISE EXHIBIT	0.8	\$316.00
2/25/2010	Michael O'Donnell	\$310.00	PREPARE AND REVISE CHART OF TIME INCURRED RELATING TO SANCTIONS/CONTEMPT MOTION	1.1	\$341.00

Total Fees \$39,545.50